CLASSIFICATION OF Name .
CHEMICAL REACTIONS & =7

Classify the reactions below as synthesis, decomposition, single replacement. ¢ ombustion
or double replacement.

1. 2H,+ O, — 2HO Synthes;s

2. 2HO — 2H,+ O, Dee aimpogion

3. In + HSO, — nSO, + H, Songle Displacement

4. 2CO + O, — 2CO, Sljf nthesig

5. 2HgO — 2Hg + O, Eaamps‘&;on

6. 2KBr + Cl, — 2KCI + Br, Sin ispla eewent

7. CaO + HO — Ca(OH), - Santhe sic

8. AgNO, + NaCl — AgCl + NaNO, Dol Di¢placement

9. 2H,0, — 2H,0 + O, Tb%dmprﬁ;{im

0. Ca(OH), + HSO, — CasSO, + 2H,0O Devble ‘I)\‘splaceme«“%
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Types of Reactions

Choose the correct symboi-for the type of reaction. Place that answer in the blank at the
beginning of each equation and then balance each equation correctly.

S = synthesis 8D = single displacement
D = decomposition DR = double replacement
C = combustion

. SD DNa (s) +Hz0 (1) »NaOH (aq) + Hz(g)

-

2. 5 2CO0 (g)+02(g) >L02(g)

. D@ FeS (s) +'HCI (aq) = FeClz (aq) + H2S (g)

w

4. D _NaNO; (s) 2)NaNO; (s) + Oz (g)

5. (. CHa(g) +02 () > CO2 (g) +H:O (9)

6. S Fe (s) ¥CuNO; (ag) & Cu (s) + Fe(NOs)z (aq)
7. _SDYKI (aq) + Cl (g) >'KClI (aq) +2 (aq)

8. S 2Al(s) +S (s) > Al:Ss (s)

. D 2 Ke105(8) S KCI (5) #'0; (9)

(o]

10. (. Catio(g) + Oz (g) > CO2 (g) +'Hz0




Balancing Chemical Equations — Answer Key

Tdentify reaction {:t.\pes For & |~14 Gn'!,!
Balance the equations below:

S 1) 1N2+3H,>2NH;

D 2 2KCIO;> 2KCI+30,

AP 3)  2NaCl+1F;> 2 NaF +1Cl

S 4 2H;+10;>2H0
PD 5  1Pb(OH);+ 2HCI> 2 H0 + 1 PbCly
DD 6)  2AlBrs+ 3 K;SO4 > 6 KBr + 1 Alp(SO4)s
¢, 7))  1CHs+20;>1C0O,+2H,0
8) 1CsHg+ 502> 3C0O,+4H0

0 e

9)  2CgHig+ 250, 16 COz + 18 H,0
DD 10)  1FeCly+ 3 NaOH > 1 Fe(OH)s + 3 NaCl
S 1) 4P+50;> 2P,05

DD 12)  2Na+2H,0> 2NaOH + 1 H,

D 13) 2Ag0 > 4Ag+10;
1S8+120,> 8 S0,

n»
—
2

15)  6COz+ 6 HyO > 1 CgH1206 + 6 O,
16) 1 K+1MgBr-> 1 KBr+1Mg

17) 2 HCI+1 CaCOs; > 1 CaCl, + 1 H,0 + 1 CO,

18) 1 HNO; + 1 NaHCO3 > 1 NaNO; + 1 H,0 + 1 CO,
19)  2H0+ 10, 2 H,0,

20) 2 NaBr + 1 CaF, > 2 NaF + 1 CaBr,

21) 1 H2S804 + 2 NaNO; > 2 HNO; + 1 Na,S0O,

WKS001x019 © 2000 Cavalcade Publishing (http://www.cavalcadepublishing.com) All Rights Reserved



YA 1ews ih — 210

()



